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I. Define the following terms. Give examples whenever
possible. (36%; 6% for each question)

digraph

. acronym

. coreferential

. suprasegmental features
. minimal pairs

6. corpus linguistics
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I1. Answer the following questions. (64%; 16% for each
guestion)

1.Why do sounds influence each other in connected speech? Describe
and explain two kinds of assimilation (i.e., assimilation of place and
assimilation of voice) with examples of each.

2. Divide the following words into morphemes and indicate the types of
morphemes, using the following terms: root, stem, derivational
morpheme/affix, inflectional morpheme/affix, prefix, suffix, and
compound word.

| a. seaside | b. lens | c. untouchables |d. given

3. Discuss whether each of Watson’s inferences following the
conversion is an entailment or an implicature.
Watson: Did you find any signs?
Holms: | found three.

Watson’s inference 1: Holms found no more than three signs.
Watson’s inference 2: Holms found at least three signs.
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4. Do you think the following phrase structure tree is a good illustration
of the structure of the sentence? Why or why not? If you don’t think
the tree diagram represents the sentence well, draw a tree diagram for
this sentence.

VAR V/VP\

NP
Det AP N

Art P NP | |
Art A
The author of the book had a miserable life.
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